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#include <stdio.h>
#include <stdlib.h>

#include <time.h>

lls*a+t*b=c & 725 s,t,c ZRDDHFLFEL—27 U v KO HERYE)
void ExGCD(long a,long b,long *s,long *t,long *c) {
long r,u,v;
if (b==0)
{
*s=1;
*t=0;

*c=a;



telse{
ExGCD(b,a%b,&u,&v,c);
s=V;

*t=u-v*(a/b);

unsigned long inverse(long a,long b) //ifit % KD %

{
long s,t,c;
ExGCD(a,b,&s,&t,&c);
t%=a;
if (t<0) t=t+a;
return (unsigned long)t;
H

#define N 5657

#define SHIFT 15
#define R (0x1<<SHIFT)
#define S (R*R)%N)

unsigned long MR(unsigned long N_1,unsigned long T)

{
unsigned long s,t;
s=((T&([R-1))*N_1)&(R-1);
t=(T+s*N)>>SHIFT;
if (t>=N) t=t-N;
return t;

b

int main(void)
{
unsigned long N_1,a,b,c,d,e;
unsigned long i;
N_1=(@nverse(R,N)*(R-1))&R-1);
printf("%d",N_1);
printf("¥n");
clock_t start, end;
start = clock();
for (i =0 ;i<100000000 ; i++){ /100000000 [F] 7 F 5 REHE 2 HIE L THERE &2 JH1 %
a=rand();
b=MR(N_1,a);



c=b*S;
d=MR(N_1,c);
e=a%N;
if (d!=e) printf("% 72 5");
}
end = clock();
printf("%f ¥ ¥n", (double)(end - start) / CLOCKS_PER_SEC);
printf("%d %d",d,e);
printf("¥n");
system("PAUSE");

return O;



